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Let-7

Ex:1)Find the missing word:

a)__ x9=72 b)ex__ =30
c)8x_ =64 d) _ x4=24
e)9x9=_ f) __ x5=25
g)____x3=21 h)9x__ =54

i) x7=56 j)10x____ =50
Ans:

a)8 b)5 c)8 d)é e)81
f)5 g)7 h)6 )8 j)5

Ex:2)True or False:

a)91-18= 75
b)7x8=54

c)56+31=78



d)9x7=63

e)8x8=64

f)67+45=114
£)10x9=90

h)7x7=50

i)89-31=58
j)56+45=101

Ans:

a)False b)False

f)False g)True

p-55

c)False d)True e)True

h)False i)True j)True

Word Problem

1.9 rutis can be put in each basket. How many rutis can be putin 4

baskets?

Sol" :

1 basket can be putin 9 rutis

Therefore 4 baskets can be put in (9x4)rutis

Ans: 36 rutis.

=36 rutis



2.Rafiq has been reading a book by 9 pages a day. How many pages
will he read in 7 days?

Sol":

1 day Rafiq reads 9 pages
Therefore 7 days Rafiq reads (9x7) pages
=63 pages

Ans:63 pages.
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1)Two hands of a man have 10 fingers. How many fingers do 8 men
have?

Sol":

1 man has 10 fingers
Therefore 8 men have (10x8) fingers
=80 fingers.

Ans:80 fingers.

The end



